CEAREI (FOERD

—  BEENTHERRKRE ? (THERE1 -2 - 3RS  E6HRANRE )

vERIK 27 I eSS —

v BT 0 0%
NEFERRSE 0 0%
EEFEMED 1. 4.55%
- REEIfrmEBRIaRE?

EmEER 0

MES 3 ] 14.20%
B G T8 BES 0 0%
kg 1 0 0%
FHRE  ARMERESR 0 0%
L E e B 7 S 33.33%
EvsEEmEs 0 0%
Wiliiss 18 476%
ERMIGE 0 0%
TELZBEES 1. 4 76%
THRMEE 5 E—— 23.81%
BRAHSES 1. 4.76%
NE MR 2. 952%
BARTEERA 0 0%
ottt cRad ] 18 4 T6%
B IREARTEE 0 0%

= CUBNERRES  ESRENRENT?

v iE O T2 85%
& 12 —————tiz:wa

MERETETABRUARE 7 (BESIHAEE (2% ) B0 REETRY - HER - WAR - KRR - ERASWZTE
(£E 2% =0 ) S2R2NVEH)

L14ES22000T L T 0 0%
219 B8 22001 7T E250007T 0 0%
£7% W% 26001 7T E280007T 0 0%
L1 ESE28001 531000 0 0%
7 WE31001 7 E340005¢ im 4.76%
#)7 WHE34001 7 EI70005T 2 0 52%
£ B®37001 71 £400005T 0 0%
1% E 40001 70E430005T 6 I 28 57%
£)F W 43001 7T E460007T 4 m— 19.05%
Z17 EWA4600170E490007T .- 4 76%
£7%7 EH49001 7T E520007T 0 0%
#1357 ME62001 7 £660007 2 9 52%
#1%57 WEE55001 7. £60000T 2 = 9.52%
#)57 WE60001 75 £65000 0 0%

#)% WHE65001 7 E700007T 0 0%




£17 EM 70001 7. E 750005%
£7%7 MEET5001 752800007
7% WE80001 75 E850007%
#)% WE85001 51900007
1% WHE00001 7T E950007
£)% B%05001 75 1000007
£1% M% 10000175 = 1100005
757 BE2 11000170 21200007
#)5 WH12000175E1300007T
€79 BH130001 72 E 1400007
£7%F B A 140001 = E 1500007
5 WA 150001 751700007
£1% 17000175 1900007
4757 BH100001 75 £21000057
R ER210001 704+

0 0%
0 0%
18 4 76%
0 0%
0 0%
0 0%
2 0.52%
0 0%
0 0%
0 0%
0 0%
0 0%
0 0%
+] 0%
0 0%

I - BETRESENTEAENRSE 2

v iR
viIRS (A TIFRXR))

A CEEFERIIEERME?

EBiEP
FErmSEREEe

v EEER

vEBRIfFP

Bt FWHmIE - £

T CEEABENERENNTEREANENEERRA?

EMEE
(15

=il
BN
FEFHSE

40 19 05%
11 SR
LX——] 19.05%
2 — 9.:52%
] 0%

A EEEHIENE  EEREEREWES?

RE
iRE

O I 2 56%
12 ————amn

N EREHIENENEEERT?

FEARE
wHE

il
e
FERTEE

6 E— 28 57%
10 SR G2
5 T 2381%
0 0%
0 0%




+ - EEENITFAERERERE - SUPETESIRIE EREEERT?

FFwHEs rd ] 852%

(o= O T 2 56%
28 6 e— 28.57%
N 4 m—— 19.05%
FERTFHSE 0 0%

+— GERMELITHE TRENE . HSEETEANRRD ? (F1E8  £Z31R)

MR - HENE 15 I 45%

EUESBESARK 6 Em=r 18 18%
R EE 4 E== 12 12%
B mARE tF 24 24%
HWES 0 0%
EZ=%E 0 0%
SHTHRTHEN 0 0%
TIRE HRRE 0 0%
MEATLRBER 0 0%
EHiEA 0 0%

+— - ERESTIHFNEFEERNRLESRELEI  BASHEREN?

B 18 e NIy
BE 3 14.20%

+=  ERBUTESLSHEE  HOFGHA  BEARKTHREENRDEERE ?

FRER 12 == G HN=

E1'3 0l 5 I 21 78%
= 18 5 56%
SENE 0 0%
EEEAKY 0 0%

TE - CRIBFE  ETERRINM(TER SR MRS TEEED T ERIFIE ? (TEE . E23H)

WMETRET 8 14 05%

BRSEED 8 10 05%
ARG 12 I 28 51%
WX S{EEN 2| 4.76%
REREREREEN 0] 10 05%
BETEES 0 0%

TR  RETRRESEES 18 238%
FEBEEEEED 0 0%

MERED 3mm 7.14%

" 0 0%




